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_ V.S /\ Chapter 2; Equatmns gnd Ineﬂnahues

Slope and lntercepts

J——

E\_ Find thé globe of each line.
2) y=~6x+3Slope=__
3) y=—x=5Slpe=_,_
4 y=-2x79Slpes.
5}y =5+ BuiSlopés -
6) y =1‘—8x51‘@pe=_,_
7‘). 5% < —4x +3,Slﬂpe:___* |

) y=<or B aepe

T

9) J’¥—2x+4— Slope =
10) y = 9x — SSlope—- |

11)y—*—x+4 Slope—- _

5 O n

; _' 12) v ='-‘—~ ;__;x -£-7,S]0pe= =

14) 4x 4 4y =6Siope=

15)-6y — Zx = 10 Siope -—-

15)337 xHZpre— '

E& Find the slope’ of the line thmugh each pair of points. .

17) 4 £, (8,13, Slope =

18) (2,4, (0,6), Slopé = '___
119) (6,-2), G.6)Slope =
200 (~4,-2) (o 6) Slope -

21) (6,2). (3.5), SIope =

22) (_5;1): (—_1: 9)! SIOpe S

3) (8,4), (9, :&),-.sn&pe.:

24) (10, =1); (7, 8); Slope =
26) (12,5), (8, 1, Slope = _

- 28) (10,

:27) (6,6); (8, 10), Slope =

_-“ 1)J (81 1): S}Qpe —

25) (16, —3),(13,=6),Slope = ____
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Usmg lntercepts

E\ Find the x cmd y i tercepts _for the followmg equat:ons

1} y -_—-3-x == 'I'_

x ~—1ntercept'

y~intercept_____

- X \-.—i-nté'rﬁéépt':‘ o

"y. —mt,ercept

3) Zx + Sy —'—."" i)

-—mtercepts

: Y -—mtercepts" :

- 4) 3x = 2y 24

_ ——mj:ercepts

¥y .:—g-_mi;el'_cepf‘tsf :

x _—i‘_n’_,c_e_ﬁ:cepts:

y -}intew:eﬁ@é; e

6) 8x — 2y 10

x ~intercepts:
: ._7)._: 5x—3y=18 =
. x —intercepta: .
L
| -8) 93‘7"2}7’224 ’ ¢

x .-_iz;térct?;pi?é,=______ﬁ;___

y fi_xltercepts:'

o) A2y T

- _—iliﬁei;‘ceptst

y —mtercepts

}8x+4—y——-'0_

—mt_e,rcepts-.

| y —intercepts: _
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